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km 1+349

km 1+382

km 1+417

km 1+455

km 1+500

km 1+539

km 1+591

Objasnienie:

Puskom - pole wykopu

Puasyps - pole nasypu

Liums - dlugos¢ zdjgcia warstwy humusu
L: - dlugos¢ warstwy $cieralnej

Lo - dlugos¢ skarp

PRZEKROJE POPRZECZNE
SKALA 1:100

150,36

147,50

147,05

Puyion = 0,00 m*
Pragoe = 3,38 m?

Lums =4,40m
L =510m
L =360m

Puons = 3,51 m?
Paaop = 0,00 m?

Liums = 8,40 m
Li =500m
L. =630m

Pagtom = 0,00 m?
Prso = 1,92 m?

Lims =4,90 m
L = 5,00 m
Lo =290m

Puyion = 0,09 m*
Prago = 0,22 m?
Luuns = 3,90 m
Li  =500m
Lo =190m

Pusten = 0,00 m?
Proson = 2,84 m?
Luwms =5,40m
Lo =500m
L. =440m

Pustenn = 0,92 m?
Prag = 0,00 m?

Lms =4,90 m
Ls = 5,00 m
Lo =450m

Pugion = 0,21 m?
Prosp =2,10 m?
Lbums = 7,20 m
Li  =500m
Lo =560m

Puyion = 0,26 m?
Paugo = 0,66 m?
Lums = 5,90 m
L =500m
L =370m



